
Exercise 1: Message Decompression 
 

Start at the word beginning ‘Peas’ and complete the phrase. Fill in each blank box by fol-
lowing the arrow attached to it and copying the character (or string of characters) in the 
box it points to. 



Exercise 2: Message Decompression 
The underscores represent a position of each character, starting at 01. The compressed message is on the top line. The two numbers in 
the brackets points back to a repeated text string. The first number is the starting position  of the string. The second number is the length 
(in characters).  Armed with this information, can you decompress the message below. Use the lower box to work out your answer. 
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Exercise 3: Compressing A Message 

Use the top box below to work out where text strings repeat.  

Scan through the text, looking for a repeating section. When you find one, underline it, put a box around the original section, and then 
draw a line between the two. Do not encode any fragment that is less than 3 characters long. 

Use the bottom box to write out your compressed text. Scan through the text in the top box, character by character.  Every time you find a 
character that is not underlined, simply copy it into the first free space in the bottom box. When you find an underlined (ie repeated) sec-
tion, write two numbers down in the next two free positions in the bottom box – the starting position of the original text and the position 
of the last character to be copied.  

Compressed Text: Important - a number with more than one digit only takes up one space in the bottom box. 

When you have finished, fill in the box (right) with the number of spaces the message now takes up.  
Can you work out the size of the new file as a percentage of the original? 

becomes 
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